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BIE R - K3 AI5E Hh 5 - AlER e
5cm 50¢cm 100¢cm
Ot hLER (L) 0.06 0.08 — PA-1000
QBRI 1 0.05 0.06 — PA-1000
QREEILER 0.08 0.08 — PA-1000
@R RERER 0.08 0.09 — PA-1000
O RERER 0.07 0.07 — PA-1000
1/17(B)En
O EMER 0.07 0.08 — PA-1000
DIRRIBFR2 0.07 0.08 — PA-1000
@R IBAR3 0.05 0.06 — PA-1000
QfEELE 0.06 0.10 — PA-1000
5 0.07 0.07 — PA-1000
Ot rhLER (1) 0.07 0.08 — PA-1000
QIBR IS 1 0.07 0.09 — PA-1000
QREEALER 0.07 0.08 — PA-1000
@R RERER 0.08 0.10 — PA-1000
_ G EmED 0.07 0.08 — PA-1000
7/30(&) =Y
GRETER 0.07 0.08 — PA-1000
DIBERIZAT2 0.07 0.07 — PA-1000
®1E:%IZAT3 0.06 0.06 — PA-1000
OfEL 0.06 0.08 — PA-1000
b5 0.07 0.09 — PA-1000
2/24 (ER4)
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BIE R - K3 AI5E Hh 5 - AlER e
5cm 50¢cm 100¢cm
Ot hLER (L) 0.07 0.08 — PA-1000
QBRI 1 0.07 0.09 — PA-1000
QREEILER 0.07 0.08 — PA-1000
@R RERER 0.08 0.10 — PA-1000
O RERER 0.07 0.08 — PA-1000
11/10CK) B
O EMER 0.07 0.08 — PA-1000
DIRRIBFR2 0.07 0.07 — PA-1000
@R IBAR3 0.06 0.06 — PA-1000
QfEL 0.06 0.08 — PA-1000
5 0.07 0.09 — PA-1000
Ot rhLER (1) 0.07 0.07 — PA-1000
QIBR IS 1 0.10 0.09 — PA-1000
QREEALER 0.07 0.06 — PA-1000
@R RERER 0.07 0.08 — PA-1000
O RERER 0.07 0.07 — PA-1000
5/15(&) BN
GRETER 0.08 0.08 — PA-1000
DIBERIZAT2 0.05 0.06 — PA-1000
®1E:%IZAT3 0.09 0.08 — PA-1000
OfEL 0.07 0.08 — PA-1000
b5 0.05 0.05 — PA-1000
3/24 (ER4)
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BIE R - K3 AI5E Hh 5 - AlER e
5cm 50¢cm 100¢cm
Ot hLER (L) 0.08 0.08 — PA-1000
QBRI 1 0.06 0.06 — PA-1000
QREEILER 0.07 0.08 — PA-1000
@R RERER 0.09 0.09 — PA-1000
O RERER 0.08 0.08 — PA-1000
11/8(£) BN
O EMER 0.09 0.09 — PA-1000
DIRRIBFR2 0.08 0.06 — PA-1000
@R IBAR3 0.05 0.05 — PA-1000
QfEL 0.07 0.08 — PA-1000
5 0.08 0.06 — PA-1000
Ot rhLER (1) 0.08 0.08 — PA-1000
QIBR IS 1 0.05 0.06 — PA-1000
QREEALER 0.08 0.07 — PA-1000
@R RERER 0.07 0.08 — PA-1000
O RERER 0.07 0.08 — PA-1000
5/13(A)£Y
GRETER 0.09 0.09 — PA-1000
DIBERIZAT2 0.06 0.07 — PA-1000
®1E:%IZAT3 0.12 0.09 — PA-1000
OfEL 0.08 0.08 — PA-1000
b5 0.08 0.09 — PA-1000
4/24 (ER4)
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BIEH- KR AI5E Hh 5 - AlER e
5cm 50¢cm 100¢cm
Ot hLER (L) 0.08 0.09 — PA-1000
QBRI 1 0.06 0.05 — PA-1000
QREEILER 0.07 0.08 — PA-1000
@R RERER 0.09 0.09 — PA-1000
O RERER 0.08 0.08 — PA-1000
11/70K) £Y
O EMER 0.09 0.08 — PA-1000
DIRRIBFR2 0.07 0.08 — PA-1000
@R IBAR3 0.04 0.05 — PA-1000
QfEL 0.08 0.08 — PA-1000
5 0.10 0.09 — PA-1000
Ot rhLER (1) 0.07 0.07 — PA-1000
QIBR IS 1 0.07 0.06 — PA-1000
QREEALER 0.07 0.07 — PA-1000
@R RERER 0.06 0.08 — PA-1000
O RERER 0.08 0.08 — PA-1000
5/14(R)EEN
GRETER 0.10 0.09 — PA-1000
DIBERIZAT2 0.06 0.06 — PA-1000
®1E:%IZAT3 0.05 0.05 — PA-1000
OfEL 0.08 0.08 — PA-1000
b5 0.10 0.08 — PA-1000
5/24 (ER4)
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e Bal1-7-1
S 294
—— . BIEE(v4o0Y—A)LNER)
BIE R - K3 AI5E Hh 5 - AlER e
5cm 50¢cm 100¢cm
Ot hLER (L) 0.08 0.07 — PA-1000
QBRI 1 0.05 0.06 — PA-1000
QREEILER 0.09 0.08 — PA-1000
@R RERER 0.10 0.08 — PA-1000
O RERER 0.08 0.08 — PA-1000
11/6(A)EN
O EMER 0.08 0.08 — PA-1000
DIRRIBFR2 0.06 0.06 — PA-1000
@R IBAR3 0.04 0.06 — PA-1000
QfEL 0.07 0.09 — PA-1000
5 0.10 0.11 — PA-1000
Ot rhLER (1) 0.08 0.08 — PA-1000
QIBR IS 1 0.05 0.06 — PA-1000
QREEALER 0.08 0.08 — PA-1000
@R RERER 0.08 0.09 — PA-1000
O RERER 0.08 0.09 — PA-1000
5/10(JK)EY
GRETER 0.09 0.09 — PA-1000
DIBERIZAT2 0.04 0.05 — PA-1000
®1E:%IZAT3 0.04 0.05 — PA-1000
OfEL 0.10 0.09 — PA-1000
b5 0.12 0.12 — PA-1000
6/24 (ER4)
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5cm 50¢m 100c¢m
Ot ehilvER (L) 0.08 0.07 — PA-1000
QIR 1 0.06 0.06 — PA-1000
O BEIL A 0.09 0.09 — PA-1000
@ BER AR 0.09 0.09 — PA-1000
/O GKOH O BEF AR 0.09 0.09 — PA-1000
@ EFEHED 0.08 0.08 — PA-1000
DG 2 0.07 0.07 — PA-1000
@I EKIHFT3 0.06 0.06 — PA-1000
OfliE L 0.08 0.09 — PA-1000 | FRL28411RBIEHADENM
b5 0.12 0.11 — PA-1000
Ot ER (L) 0.06 0.07 — PA-1000
QI ERIHFT 1 0.04 0.06 — PA-1000
QB ED 0.07 0.08 — PA-1000
@ BE R A 0.07 0.10 — PA-1000
5/17(Q0KEN  |ORERED 0.07 0.09 — PA-1000
Op L 0.08 0.10 — PA-1000
DIEERIS5FT2 0.04 0.05 — PA-1000
@I EXI5FT3 0.04 0.06 — PA-1000
15 0.10 0.12 — PA-1000
7/24 (BR4)



M IL/NERICE T HMSTHRE AR R
PRI PR ELl1-7-1
B H - XA 5t AEBATOY—ANEBE) | e e
5cm 50¢m 100c¢m

Ot ehilvER (L) 0.09 0.10 — PA-1000

QIR 1 0.05 0.07 — PA-1000

O BEIL A 0.10 0.11 — PA-1000

@ BER AR 0.09 0.09 — PA-1000
/100 2Y |G ERED 0.12 0.11 — PA-1000

@ EFEHED 0.10 0.12 — PA-1000

DG 2 0.05 0.06 — PA-1000

@I EKIHFT3 0.05 0.06 — PA-1000

b5 0.17 0.16 — PA-1000

Ot ER (L) 0.08 0.08 — PA-1000

QI ERIHFT 1 0.06 0.07 — PA-1000

QB ED 0.10 0.09 — PA-1000

@ BE R A 0.11 0.12 — PA-1000
5/12(Q0)EY |G ERED 0.10 0.10 — PA-1000

O BETE &R 0.10 0.12 — PA-1000

DIEERIS5FT2 0.05 0.06 — PA-1000

@IEEIZAT3 0.12 0.11 — PA-1000

15 0.15 0.14 — PA-1000

8/24 (BR4)



o — kN N
EIL/NERIZE T 5 SR =R ERFE
e Bal1-7-1
PSS RASEY FEF)
= E A= AEE (X478 —N)L : e
/ﬂ“ﬂiE 961'; /ﬂ“}‘Ei‘lﬂ&;\\ 5cm 50¢m 100¢m /ﬂ']l‘E%g 1%%
O DL ER (1) 0.07 0.09 — PA-1000
QIR R 1 0.06 0.08 — PA-1000
QKEILER 0.10 0.12 — PA-1000
DRERER 0.09 0.10 — PA-1000
2/9(R)EN |BREREER 0.09 0.10 — PA-1000
O EEFEER 0.11 0.12 — PA-1000
DIEERIGFR2 0.06 0.07 — PA-1000
@R ERI5FR3 0.13 0.13 — PA-1000
b5 0.11 0.14 — PA-1000
O L ER (1) 0.06 0.08 — PA-1000
QBRI 1 0.05 0.08 — PA-1000
QKEEILER 0.08 0.11 — PA-1000
@R ERSED 0.07 0.10 — PA-1000
M/ EY | ORERER 0.10 0.12 — PA-1000
OREMER 0.08 0.11 — PA-1000
DIRERIGFR2 0.04 0.06 — PA-1000
@R ERI5FR3 0.08 0.11 — PA-1000
fbi5 0.12 0.14 — PA-1000
Dhih L ER (1) 0.06 0.07 — PA-1000
QIR &G 1 0.05 0.08 — PA-1000
QR ELER 0.08 0.10 — PA-1000
OEES 0.07 0.09 — PA-1000
8/71(K) BEh |OKEmRSS 0.08 0.10 — PA-1000
O EFEER 0.08 0.11 — PA-1000
DIEERIBF2 0.05 0.06 — PA-1000
®IEERI5FR3 0.07 0.10 — PA-1000
b i5 0.11 0.14 — PA-1000
Ot hLER () 0.08 0.09 — PA-1000
QI ERIGFT 1 0.06 0.07 — PA-1000
QEILEB 0.10 0.11 — PA-1000
- DRERED 0.08 0.09 — PA-1000
SIS e 0.11 0.12 — PA-1000
O BEFEER 0.21 0.16 — PA-1000
DIEERIGFR2 0.06 0.07 — PA-1000
@®FERIZFS 0.08 0.10 — PA-1000
b5 0.12 0.13 — PA-1000
9/24 (ER4)
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F 254 B _ I
AER X A AERATEL VBT | g s
5cm 50cm 100cm

gt ER (1) 0. 09 0.12 — PA-1000

OB RIS 1 0. 06 0. 09 — PA-1000

ORBEILED 0.10 0.13 — PA-1000

DR BERED 0. 07 0. 11 — PA-1000

3/f;LK) O ERED 0.12 0.15 — PA-1000
; @ EREED 0. 09 0.12 — PA-1000
DB 2 0. 06 0. 08 — PA-1000

@IBELISATS 0. 11 0.12 — PA-1000

15 0. 11 0.16 — PA-1000

Ot ER (1) 0. 07 0. 09 — PA-1000

QBRI 1 0. 07 0. 09 — PA-1000

OREILER 0.13 0.12 — PA-1000

DR BERED 0. 09 0.10 — PA-1000

2/;%5)% O BERED 0.13 0.14 — PA-1000
@R ERS 0. 09 0.10 — PA-1000

DIBERIZAR2 0. 08 0. 08 — PA-1000

@IRERIZAT3 0. 09 0.12 — PA-1000

15 0.17 0.16 — PA-1000

Ot ER (1) 0. 07 0. 09 — PA-1000

QIBERIZFR 1 0. 06 0. 09 — PA-1000

RBEILED 0. 09 0.13 — PA-1000

TriceE | DRERE 0. 07 0.10 — PA-1000
1/32(%) O ERED 0.10 0.14 — PA-1000
A ORERS 0. 08 0.10 — PA-1000
DIBEIHm2 0. 06 0. 08 — PA-1000

@53 0. 08 0.13 — PA-1000

15 0. 11 0.15 — PA-1000

10/24 (BR4)



FAW/NERICE T HMEGTRERIERR
A EE S EELL1-7-1
F 254 B _ I
AER X A AERATEL VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 07 0. 09 — PA-1000
OB RIS 1 0. 06 0. 09 — PA-1000
ORBEILED 0.12 0.15 — PA-1000
DR BERED 0. 08 0.10 — PA-1000
12/;‘;’{” O BERED 0.10 0.14 — PA-1000
i @ EREED 0. 09 0.14 — PA-1000
DB 2 0. 05 0. 07 — PA-1000
@IBELISATS 0. 11 0.15 — PA-1000
15 0.12 0.15 — PA-1000
Ot ER (1) 0. 07 0. 08 — PA-1000
QBRI 1 0. 06 0. 09 — PA-1000
OREILER 0. 11 0.13 — PA-1000
DR BERED 0. 08 0.10 — PA-1000
11%‘%*) O BERED 0. 11 0.12 — PA-1000
@R ERS 0. 09 0.13 — PA-1000
DIBEI5AT2 0. 05 0. 07 — PA-1000
@BELISAT3 0. 09 0.12 — PA-1000
15 0. 11 0.14 — PA-1000
Ot ER (1) 0. 08 0. 10 — PA-1000
QIBERIZFR 1 0. 06 0. 09 — PA-1000
RBEILED 0. 09 0.12 — PA-1000
@R ERED 0. 07 0. 09 — PA-1000
mgf;[f%) O ERED 0. 11 0.13 — PA-1000
@REEFEED 0. 09 0. 11 — PA-1000
DB B2 0. 06 0. 08 — PA-1000
@R IZEFT3 0. 07 0. 11 — PA-1000
15 0.13 0.16 — PA-1000
11/24 (BR4)



FAWU/NERICEITOMFREAERR
A EE S EELL1-7-1
TRk 255F F
AER X A AERATEL VBT | g s
5cm 50¢cm 100cm
Ot h i ER (1) 0.08 0. 09 — PA-1000
QIR IZFT 1 0. 06 0.08 — PA-1000
QR EILED 0.12 0.12 — PA-1000
@R ERED 0. 09 0.10 — PA-1000
g/g;,fk) O ERED 0.12 0.12 — PA-1000
®EEED 0. 09 0. 11 — PA-1000
DIEERIZFT2 0. 06 0. 09 — PA-1000
®EERIZFT3 0.15 0.14 — PA-1000
ibi5 0.13 0.14 — PA-1000
O L ER (1) 0. 07 0. 09 — PA-1000
QR ERIZFT 1 0. 06 0. 09 — PA-1000
ORBEILED 0.13 0.15 — PA-1000
@R ERED 0. 07 0.10 — PA-1000
S/ET;()@) O ERED 0.10 0.14 — PA-1000
CREEED 0. 09 0. 11 — PA-1000
DIBEI5AT2 0. 06 0. 08 — PA-1000
®EERIZFT3 0. 07 0. 11 — PA-1000
ibi5 0. 10 0.15 — PA-1000
Ot ER (1) 0. 08 0. 09 — PA-1000
OB ERISFT1 0. 06 0. 09 — PA-1000
QL ED 0.10 0.13 — PA-1000
@ RERED 0. 10 0.12 — PA-1000
770 (A) G ErRED 0.12 0.14 — PA-1000
=Y =
@ EMED 0. 08 0. 11 — PA-1000
DB B2 0. 06 0. 07 — PA-1000
@R IZEFT3 0. 08 0.12 — PA-1000
15 0. 10 0.14 — PA-1000
12/24 (BR4)



FAW/NERICE T HMEGTRERIERR
A EE S EELL1-7-1
F 254 B _ I
AER X A AERATEL VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 08 0.10 — PA-1000
OB RIS 1 0. 07 0. 09 — PA-1000
ORBEILED 0.12 0.16 — PA-1000
DR BERED 0. 08 0.10 — PA-1000
G/f;LK) O ERED 0.10 0.15 — PA-1000
; @ EREED 0. 09 0. 11 — PA-1000
DB 2 0. 08 0. 08 — PA-1000
@IBELISATS 0. 08 0.12 — PA-1000
15 0.14 0.16 — PA-1000
Ot ER (1) 0. 09 0.10 — PA-1000
QBRI 1 0. 07 0. 09 — PA-1000
OREILER 0.14 0.13 — PA-1000
DR BERED 0. 09 0. 09 — PA-1000
5/1%@) O BERED 0.12 0.13 — PA-1000
; @R ERS 0. 09 0. 11 — PA-1000
DIBEI5AT2 0. 07 0. 09 — PA-1000
@BELISAT3 0. 09 0.12 — PA-1000
15 0.13 0.15 — PA-1000
Ot ER (1) 0.12 0.12 — PA-1000
QIBERIZFR 1 0. 08 0. 09 — PA-1000
RBEILED 0. 11 0.13 — PA-1000
@R ERED 0. 09 0.10 — PA-1000
4/1%3,59@ O ERED 0.17 0.16 — PA-1000
@REEFEED 0. 09 0. 11 — PA-1000
DB B2 0. 07 0. 09 — PA-1000
@R IZEFT3 0. 08 0.13 — PA-1000
15 0.15 0.16 — PA-1000
13/24 (BR4)
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ALU/NERIZCHITOMIHREAERTR
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S R24E B ==
A= - = AEIE (N4 70— N LR Eh) —
/ﬂ“ﬂiE 961'; _/,E\“IEi‘m,ﬁ“ Sem 50cm 100c¢m /ﬂ“l‘E%g 1%%
1F§§§(EP¢J) — 0. 08 0. 10 PA-1000
=, [2F%ZE(BR) — 0.10 0. 11 PA-1000
3/180K) HEHL FRE(BA) — 0. 10 0. 11 PA—1000
AEEER) — 0. 09 0. 08 PA-1000
O DL ER (1) 0. 11 0.12 — PA-1000
%@ri%— 0.17 0.19 — PA-1000
Wy RE BEILER 0. 11 0. 15 — PA-1000
35K BN N E 0. 09 0.10 — PA-1000
OERER 0.15 0. 15 — PA-1000
O BE Fa BT 0.12 0.13 — PA-1000
1F§§§(EW) — 0.10 0. 10 PA-1000
— |2FE=E(BRN) — 0. 10 0. 10 PA-1000
2760K) ™ FHZE(BA) — 0.10 0. 11 PA-1000
AEEER) — 0. 08 0. 08 PA-1000
O D ER (1) 0.12 0. 11 — PA-1000
%@E 0.17 0.17 — PA-1000
WY RE BBEEILER 0.12 0. 15 — PA-1000
2750) BN o E 0.10 0. 11 — PA-1000
OERER 0. 15 0.16 — PA-1000
O BEFEE 0. 11 0. 14 — PA-1000
1F§§(EW) — 0. 09 0. 10 PA-1000
.. [2F%ZE(BR) — 0.12 0.10 PA-1000
1/17(R) B FRE(BA) — 0.12 0.12 PA—1000
FEEERN) — 0. 08 0. 09 PA-1000
O D ER (1) 0. 11 0. 11 — PA-1000
Qb5 0.18 0.18 — PA-1000
R 254 @B EB 0. 14 0. 16 — PA-1000
1.790K) €Y |@ORERER 0. 10 0. 11 — PA-1000
O BErREER 0.16 0.17 — PA-1000
OB 0. 11 0. 11 — PA-1000
16/24 (ER4)
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JRR24SEE
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i S| AEH R AE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 "%
1F&=E(BN) — 0. 10 0. 10 PA-1000
QFHE(EBA) — 0.10 0. 11 PA-1000
12.714(%) B
2714(%) HEh FHE (BM) — 0. 11 0. 11 PA-1000
ARBEEN) — 0. 09 0. 08 PA-1000
Dt chHER (1) 0. 11 0. 11 — PA-1000
@iz 0.16 0.18 — PA-1000
QREEALEB 0.14 0. 14 — PA-1000
1275 s
OR) BN kR 0. 18 0. 18 — PA-1000
O ERER 0.13 0.15 — PA-1000
©REFEED 0. 09 0.10 — PA-1000
Dt chHER (1) 0. 16 0. 16 — PA-1000
@rhi% 0.17 0.17 — PA-1000
QR EALER 0.16 0.16 — PA-1000
11./8 i
(R) BN | kR 0.10 0. 11 — PA-1000
O ERER 0.16 0.17 — PA-1000
©EEFER 0. 11 0.13 — PA-1000
1FHE(BRN) — 0. 09 0. 09 PA-1000
QFHE (BR) — 0. 10 0. 09 PA-1000
1 W R
176(K) & SFHE (BR) — 0. 10 0.10 PA-1000
ABEEN) — 0. 06 0. 07 PA-1000
1IFE=E(BA) — 0. 09 0. 09 PA-1000
QFHE (BR) — 0. 09 0. 09 PA-1000
10 ) BE
/16K B SFHE (BR) — 0. 09 0.10 PA-1000
ABEEN) — 0. 06 0. 07 PA-1000

17/24
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BEWNERIZBITOAMI IR ERR
FrE#h : B L1-7-1
RR245EE
e e BAIEE (XA —XN)LNER) .
Al KA SR 5E Hh g AlE
2|5 B - X% Bl 7E th — — o Bl E 25 "E
Ot rhInER () 0.14 0.12 — PA-1000
@iz 0.17 0.18 — PA-1000
QREEILER 0. 19 0.17 — PA-1000
10715 i3
(R) B rEam 0. 09 0.10 — PA-1000
O RErRED 0. 19 0.18 — PA-1000
O RETEER 0. 11 0.14 — PA-1000
1FEE(BN) — 0. 08 0. 09 PA-1000
FFEE(EBRA) — 0. 09 0. 09 PA-1000
9./14(%) 1
(&) Wh IFHE(BR) — 0. 10 0. 09 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000
Ot chHER (1) 0. 11 0.12 — PA-1000
@iz 0. 23 0.17 — PA-1000
- QREEILER 0. 24 0. 15 — PA-1000
9.5 i
OR) B D rERm 0. 26 0. 24 — PA-1000
O RERER 0. 19 0.19 — PA-1000
O RETEER 0. 26 0. 42 — PA-1000
IFR=E(BR) — 0.10 0. 09 PA-1000
2FH = (BN) — 0. 09 0.10 PA-1000
8.6 R
A & = =n) — 0. 10 009 | PA 1000
ABEEN) — 0. 06 0. 07 PA-1000
Dt ehHER (1) 0. 11 0.12 — PA-1000
Qw5 0.17 0.16 — PA-1000
QREEALEB 0.17 0. 16 — PA-1000
8.73(&) I
&) BN mERm 0. 30 0. 26 — PA—1000
O ERER 0.18 0. 21 — PA-1000
O FETER 0. 31 0. 25 — PA-1000
18/24 (ER4)



BEWNERIZBITOAMI IR ERR
A - AL -T7-1
R4
gy = g = AENE (70> —~)LHEE) !
pizl = SBTE Hh 5 BIE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
1FEE(BN) — 0. 09 0.10 PA-1000
QFHE(EBMA) — 0.10 0. 09 PA-1000
7170K) B
(%) #n IFHE(BR) — 0. 11 0. 11 PA-1000
ABEEN) — 0. 05 0. 06 PA-1000
Ot ehER (1) 0.12 0.13 — PA-1000
@iz 0.14 0.18 — PA-1000
QREEILER 0. 16 0.18 — PA-1000
1./4 i3
O BN D rERm 0. 39 0. 30 — PA-1000
O RERER 0.17 0.19 — PA-1000
O RETEER 0. 15 0.18 — PA-1000
Ot chHER (1) 0. 14 0.14 — PA-1000
@iz 0.16 0.16 — PA-1000
= |®REIE 0. 22 0. 20 — PA-1000
6.712(:K) =L
(k) &Y @R FERER 0. 32 0. 27 — PA-1000
O RERER 0. 19 0.19 — PA-1000
O RETEER 0. 30 0. 27 — PA-1000
1FRE=E(BRA) —_ 0. 09 0. 09 PA-1000
QFHE (BR) — 0. 09 0. 09 PA-1000
6.6 BS
AN rrrrr—r — 0. 09 0. 10 | PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
1F&=E(BA) — 0. 10 0.10 PA-1000
QFHE (BR) — 0. 09 0. 10 PA-1000
5/15(N) W
x) ® SFHE(BR) — 0. 11 0.10 PA-1000
ABEEN) — 0. 07 0. 08 PA-1000
19/24 (ER4)



B L/ NIRRT E [+ DS 4R

=RERBR
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JLRE 23~ 244F FE
SHI . I Nl &5 4 Rl =
/E]EE 9&1; /,E‘IITEHE,.“ 5om 50cm 100cm /EIIIE% ﬁ%%
Ot ehHER (1) 0.17 0.17 — PA-1000
Qs 0.12 0. 15 — PA-1000
= QREEALEB 0. 20 0.19 — PA-1000
59 =\, —
O &Y OEE S 0. 24 0. 22 — PA-1000
O ERER 0. 23 0. 21 — PA-1000
©REFEE 0.15 0. 22 — PA-1000
1F5E(BRN) — 0.10 0.10 PA-1000
QFHE(EBA) — 0. 09 0.10 PA-1000
4,723 5B
78R ® IFHE(EA) — 0.10 0. 09 PA-1000
ARBEEN) — 0. 07 0. 08 PA-1000
Dt chHER (1) 0.17 0.14 — PA-1000
Qw15 0.10 0.13 — PA-1000 3A13RAICHOABZELELL.
QR EALER 0. 20 0.19 — PA-1000
4,12 i
(R) BN | kR 0. 28 0. 27 — PA-1000
O ERER 0. 22 0. 20 — PA-1000
©REFEE 0. 25 0. 23 — PA-1000
1FHE(BRN) — 0.10 0.10 PA-1000
QFHE (BR) — 0. 11 0. 10 PA-1000
3,721 i3
OK) HEAL SFHE (BR) — 0. 10 0. 11 PA-1000
ABEEN) — 0. 08 0. 08 PA-1000
Dt chHER () 0. 15 0. 15 — PA-1000
Qw5 0. 22 0. 24 — PA-1000
QRRBEILED 0. 20 0. 20 — PA-1000
3.12 i3
(R) B |k 0. 27 0. 28 — PA-1000
O RErER 0. 23 0. 20 — PA-1000
O 0. 32 0. 27 — PA-1000
20/24 (ER4)



BEWNERIZBITOAMI IR ERR
FrE#h : B L1-7-1
FRR234ERE
gy = g = AENE (70> —~)LHEE) !
pizl = SBTE Hh 5 BIE
2|5 B - X% Bl 7E th — — o Bl E 25 "E
1FEE(BN) — 0. 09 0.10 PA-1000
- QFHE(EBMA) — 0. 09 0. 09 PA-1000
2/15 =L
/150K) &Y IFHE(EBA) — 0. 09 0.10 PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
Dhsh i ER (1) — 0. 20 0. 19 PA-1000
@iz 0. 20 0. 24 — PA-1000
QREEILER — 0. 22 — PA-1000
2/6 BN
(R) ™ O EER — 0. 31 — PA-1000
O RERER — 0. 24 — PA-1000
O RETEER — 0. 21 — PA-1000
1FEZE (BA) — 0.10 0. 11 PA-1000
QFHE(BMA) — 0.10 0. 08 PA-1000
119 i
() #h IFHE(BR) — 0. 10 0. 08 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000
Ot chHER (1) — 0.16 0.17 PA-1000
@iz 0. 34 0. 30 — PA-1000
k244 QRREEILER — 0.19 — PA-1000
1713(%) BEh |@kBERED — 0. 34 — PA-1000
O RERER — 0. 21 — PA-1000
O RETEER — 0. 26 — PA-1000
IFE=E(BA) — 0. 08 — PA-1000
= |2FEZE(BN) — 0.10 — PA-1000
12714 £l
K EY o= B — 0. 09 — PAZ1000
ABEEN) — 0. 07 — PA-1000
21/24 (ER4)



BEWNERIZBITOAMI IR ERR
FrfEHb : B 1-7-1
JRR234ERE
p:l - KA p: =1 ATE
8% B - X% Bl 7E 1t Sem 500 1006 B 25 "%
o ER (L) — 0.16 0.17 PA-1000
Ly ks |ABEERDIS 0. 58 — — PA-1000
1271300 B e g — 0. 28 — PA-1000
JS5) o REEMAE — 0. 28 — PA-1000
BYE K — 0. 29 — PA-1000
11 & R/
C28(R) B s s — 0. 28 — PA-1000
1F5E(BRN) — 0. 08 — PA-1000
QFHE(EBA) — 0. 09 — PA-1000
11.,722(K) BN |3F#%=(BR) — 0. 07 — PA-1000
AFHE (BA) — 0. 09 — PA-1000
ARBEEN) — 0. 08 — PA-1000
<, [ButhsbE (L) — 0.19 0.19 PA-1000
17160K) Hh Big 0. 46 — — PA-1000
<, [ButhsbE (L) — 0. 20 0.19 PA-1000
10726 (/K) HEN e Y — — 5AZ1000
1FHE(BRN) — 0. 08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
IFHE(EA) — 0. 08 — PA-1000
AFHE (BRIN) — 0. 09 — PA-1000
=, IABEERN) — 0. 08 — PA-1000
=1l
10720(#) &Y mEL — 0.16 — PA-1000
REILAIE — 0. 20 — PA-1000
Eih 1 — 0. 31 — PA-1000
Eiho — 0.24 — PA-1000
1E P94 1{EE — 0. 22 — PA-1000
22/24 (ER4)



BEWNERIZBITOAMI IR ERR
FrfEHb : B 1-7-1
JRR234ERE
p:l - KA p: =1 ATE
8% B - X% Bl 7E 1t Sem 500 1006 B 25 "%
= [ButiER (L) — 0.22 0. 20 PA-1000
=l
107190K) &Y fbi5 0. 37 — — PA-1000
=, [ButhenER (L) — 0. 27 0. 25 PA-1000
107120K) B g 0. 27 — — PA-1000
= EhohiER () — 0.27 0. 25 PA-1000
=l
10750K) &Y fbi5 0.19 — — PA-1000
+, B inER (LX) — 0. 21 0. 21 PA-1000
9/280K) i g 0. 28 — — PA-1000
= EhohiER () — 0.22 0. 20 PA-1000
=l
0/2(x) &Y fbi5 0. 24 — — PA-1000
1FHE(BRN) — 0. 09 — PA-1000
QFHE(BMA) — 0. 09 — PA-1000
IFHE(BMA) — 0. 08 — PA-1000
AFHE (BA) — 0. 09 — PA-1000
- AEE(BN) — 0. 08 — PA-1000
G =1l
9/200%) &Y mEL — 0.17 — PA-1000
BREILAIE — 0. 22 — PA-1000
Eih 1 — 0. 33 — PA-1000
Eiho — 0. 28 — PA-1000
IEFERLE — 0. 23 — PA-1000
<. |EuthdEs (£) — 0. 20 0.19 PA-1000
9/140K) Bin Wi 0. 22 _ — PA-1000
- b ER (L) — 0. 22 0. 20 PA-1000
8/ 70K) Bt Wi 0. 23 — — PA-1000

23/24




BEWNERIZBITOAMI IR ERR
FrfEHb : B 1-7-1
JRR234ERE
_ . BAIEE (X470 —N)LER) .
AIEH - XA B Hh R AE
8% B - X% Bl 7E 1t Sem 500 1006 B 25 "%
o ER (L) — 0. 25 0. 21 PA-1000
fbi5 0. 21 — — PA-1000
o e NFEREER) — 0.10 — PA-1000
8/730(%) HEh 2FHE (BM) — 0. 09 — PA-1000
IFHE(BMA) — 0. 09 — PA-1000
ARBEEEN) — 0. 08 — PA-1000
+, B inER (LX) — 0. 20 0.19 PA-1000
8/240K) W g 0. 22 — — PA-1000
+, Bt inER () — 0. 30 0. 28 PA-1000
8/170K) W Big 0. 28 — — PA-1000
+, |EhtLER () — 0. 22 0. 23 PA-1000
8/100K) Bt Big 0. 26 — — PA-1000
= Eih b ER () — 0.22 0. 21 PA-1000
=1l
8/30K) &Y fbi5 0. 23 — — PA-1000
= Eih b ER () — 0.22 0. 21 PA-1000
=l
77270K) &Y fbi5 0. 21 — — PA-1000
= Eih b ER () — 0. 23 0. 21 PA-1000
=l
17000 BY T 0. 23 — — PA-1000
111(8) B |BuhsdihER (L) — 0. 29 0.24 RDS-30
174(8) Y Bt (L) — 0.27 0. 29 RDS-30
6.727(8) Y |&uthghER (L) — 0. 23 0. 25 RDS-30
- B ER () — 0. 35 0. 35 RDS-30
=l
6-20(R) &Y b5 0. 49 — — RDS-30
TERR234 B ER () — 0. 26 0. 29 RDS-30
6.713(R) Y [miE 0. 48 — — RDS-30

24/24




